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QUANTITATIVE TECHNIQUES FOR BUSINESS

(Thursday, 12-12-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—80
N.B. :— (1) Question No. 1 is compulsory.
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(2) Attempt any four questions from Q. No. 2 to Q. No. 7.
FIUAE AR YA digal (Y99 HHF 2 O W HHE 7).
(83) Use of simple calculator is allowed.
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1. The simple correlation coefficient between temperature (X;), corn yield (X,)

and rainfall (X3) are ri9 = 0.59, ri3 = 0.46 and ryg = 0.77.

Calculate the partial correlation ri53, 7139 and multiple correlation

R123 Ra s 20

T (Xy), ¥ SR (Xy) M0 GS=HE (X)) ArAiel W8 HgHay Toreh
rig = 0.59, ri3 = 0.46 3 rog = 0.77 3TEA.
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(2) TV—28—2024
The following data relate to sales in a time of trade depression. Do the data
suggest that the sales are significantly affected by depression ? 15
Districts of Sales Districts not Districts Total

Affected Affected

Satisfactory 250 80 330
Unsatisfactory 140 30 170
Total 390 110 500

Apply %2 test. (Given V = 1, Xg.05 = 3.84)

el Alfed! SR HE= deod T aed TR, fast ddiges wfonfha et

AR, 3 AhSIdge RUMl I H

e fores sraftonfim ey | oRonhie fres | T
HHTATAh{ch 250 80 330
S{HHATThI{ch 140 30 170
TRUT 390 110 500

Apply %2 test. (Given V = 1, x%,og, = 3.84)

From the data given below calculate Yule’s coefficient of association between

weight of the children and then economic condition and interpret it :

15

Attributes

Poor Children

Rich Children

Below Normal Weight

Above Normal Weight

85

6

20

47
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In a trivariate distribution if 15

Q =3 Qg =4 Q3 = 5 and
7"23 =04 7"13 = 0.6 7'12 = 0.7

Determine the regression equation of X; on X, and X3 of the variates from

their means.

Tt foifay faaoma
Q =3 Q, = 4 Qg = 5 3mfor
rog = 04 rig=06 rq9=07

X, ®l Xy 0 Xy oR GiaqmeT [0 el

Prices of shares of a company on the different days in a month were found

to be : 15
66, 65, 69, 70, 69, 71, 70, 63, 64 and 68

Discuss whether the mean price of the shares in the month is 65.

(For V =9, ;05 = 2.262)
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= SrerTesn foemfl swudtean et fhad Ereliay et el
66, 65, 69, 70, 69, 71, 70, 63, 64 3T 68
nfgardial Qstd= el foud 65 T8a w1 A=N A= AL
(For V = 9, tyos = 2.262)

Fit a straight line trend by the method of least squares to the following

data. Also estimate sales for the year 2025 : 15
Year Sales in Lacs (Rs.)
2012 17
2013 20
2014 19
2015 26
2016 24
2017 40
2018 35
2019 55
2020 50
2021 74
2022 69

Qe Alfgdi=a SUNER least squares method @1 AR &&A straight line
trend e d9d 2025 TY sales Tohal IqA ?

Year Sales in Lacs (Rs.)
2012 17
2013 20
2014 19
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2015 26
2016 24
2017 40
2018 35
2019 55
2020 50
2021 74
2022 69
The random samples were drawn from two normal populations and the following
results were obtained : 15
Sample 1 Sample 2

52 38

74 44

80 48

70 54

60 48

60 36

80 40

52 38

60 50

70

90

Test whether the two populations have the same variances.

(FOI‘ Vl = 10 and V2 = 08, f005 = 3.35)
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I TN ARHSIHYA dedd AGesd T @eftd gHT9l 3TRd

Sample 1 Sample 2
52 38
74 44
80 48
70 54
60 48
60 36
80 40
52 38
60 50
70
90

ARIGIHYT Sdoiedl TAHY HAEAT A 1 d qUrEl.
(FOI‘ Vl = 10 and Vz = 08, f005 = 335)
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